EXPORT SUBSIDIES AND COUNTERVAILING DUTIES

Use the following diagram to answer the next eleven questions.
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You are given the following data on the market for radios, which is subject to a $10 export subsidy in the exporting countries and then to a $10 countervailing duty in the importing country, the United States.

                         With        With        With

                         Free       Subsidy    Subsidy & 

                         Trade        Only      Tariff  

World market price       $ 100       $ 90       $ 100

U.S. domestic price        100         90         100

U.S. consumption            70         80          70

U.S. production             20         10          20

U.S. imports                50         70          50

Assuming the export subsidy remains in place throughout, answer the following questions:

1.
The United States:

     a.  is a small country.

     b.  is a large country.

     c.  has some control over the world price of radios.

     d.  none of the above.

2.
The effect of the foreign export subsidy on U.S. radio consumers is equal to:

     a.  gain of M+N+O.     
b.  loss of M+N+O.     c.  gain of L+M+N+O.     d.  loss of L+M+N+O.
3.
The effect of the foreign export subsidy on U.S. producers is equal to:

     a.  gain of 150.        c.  loss of 150.

     b.  gain of 750.        d.  loss of 750.

4.  The effect of the foreign export subsidy on the U.S. as a whole is equal to:

     a.  gain of 150.        c.  gain of 500.

     b.  gain of 750.        d.  gain of 600.
5.  The effect of the foreign export subsidy on the United States government is equal to:

     a.  gain of 150.        c.  gain of 500.

     b.  gain of 750.        d.  none of the above.

6.  The effect of the foreign export subsidy on the whole world is equal to:

     a.  loss of N.          c.  gain of N.

     b.  loss of $100.       d.  gain of $100.

7.  The effect of the countervailing duty on U.S. radio consumers is equal to:

     a.  loss of 150.        c.  loss of 500.

     b.  loss of 750.        d.  loss of 600.

8.  The effect of the countervailing duty on U.S. radio producers is equal to:

     a.  gain of 150.        c.  gain of 500.

     b.  gain of 750.        d.  gain of 600.

9.
The effect of the countervailing duty on the U.S. government is equal to:

    
a.  gain of $700.       c.  loss of $700.

    
b.  gain of $500.       d.  loss of $500.

10.
The effect of the countervailing duty on the whole world is:

    
a.  loss of N.          c.  gain of N.

    
b.  loss of $100.       d.  gain of $100.

11.  The effect of the countervailing duty on the taxpayers of the exporting countries is equal to:

    
a.  gain of $500.       c.  gain of $50.

     
b.  gain of $700.       d.  gain of $200.

